204.40
N 24 13' 30"

N 47 /O I4u
41,18
N &2 32" 90" W
E
-
50'-5" 54'-4" \ 20'-0"
Owsu.

NEW SINGLE STORY RESIDENCE

60'-2"

CONCRETE DRIVEUATYT

WISE ESTATES BLOCK C LOT 2|
0.58 ACRES

45'-0"

1a.71

SEPTIC

l84d.26
6 3‘ 46I |5II LU

S 58 42' 5O" W

SW MELBA GLEN




YY)

I'.>=m

25 GA. MIN EXTERIOR SKIN 18 GA. GALV. RES. TOP ROLLER BRACKET

LAG BOLTS PER BRACKET

/

w
.
(=3

~1!

IHIIIII

i ..____s_-%-_:g____@h_____sﬂ_
10° = m 5
|t = e

: l__I__-__l_______l______,l___

l

/ 2)* |:’-

/Vu. x 20 GA. STRUTS

|."o:—l

M.
—

8'0°

@
%
=

frm————

ﬁlllﬂ

——

.-__I__-__l______ l_.___ [

= 11i

|

B
.

n
<
=l
0

||I|n.|||||

Il

r?r‘

©

.
7=
s

—--IV

l

II

l

0*

b 4
~

T

D,
l—u
[1}]

~
.

Hllln)

-,l

-__I,_-__I_______I_______I__

II]III\IIIII'III

1||

14 GA. GALV. STEEL

3

n n
T ~
-

W/ 1 /4" x 3/4

57-1/4" _ 25 u\m-l'_.llmm..u\ Q.L.llmm -3/ m~|'_.l|mm|u\ B*

mqlp\»"l'l >

SECTION HEIGHT

INSIDE_ELEVATION

STRUT SPACING

. 1) 5/18" x 1-3/4"

37 x 20 ga. STRUT HEX HEAD LAG BOLT
(1) 1/4" x 3/4°

HEX HEAD UNIV. SCREW

14 go. GALV. STEEL:
ROLLER BRACKETS 0

(2) 5/18° x 1-3/4
HEX HEAD LAG BOLTS
° PER ROLLER BRACKET

NYLON DR STEEL
ROLLER W/S* STEM————

/u X 20 ga. STRUT

(1) 5/16° x 1-3/4°
HEX HEAD LAG BOLT

(4) 174" x 3/4°
HEX HEAD UNIV. SCREWS

(1) 174" x 3/4°

HEX HEAD UNIV. SCREW TRIMMED 2 x 4

WOOD BLOCK
BEHIND AlL. END STILES

ROLLER BRACKET A._.<TV VA
NTS v/
Qv 5/168" DIA. x 1-3/4"

LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

STOP MOULDING
W/ FLEXIBLE SEAL
(SUPPLIED BY INSTALLER)

3" x 20 ga. STRUT ANu d\¥l X U\#-

EX HEAD UNIV. SCREWS

(4) 1/4" x 3/4°
HEX HEAD
UNIV. SCREWS

(2) 1747 x u}.\.

HEX HEAD UNIV. SCREWS

3" x 20 go. STRUT

HINGE CONNECTION /S1\

1-1/2" x 2-5/8" x 20-1/2"
SOUTHERN YELLOW PINE
BEHIND ALL END STILES

20 GA. GALV. STEEL

\2/

EAD SCREWS AND
s\E 5/16" x 1-3/4"
LAG BOLTS PER ROLLER HINGE

w/ G-40 GALVANIZATION ~ ATTACHED W/ (2) 5/167 x 1-3/47

. ADJUSTABLE SUDE BRACKET ATTACHED
l._ 2 _I w/ (2) 1/4" x 1/2° BOLT & NUT PER BRACKET

TEST No. SBC—580—011 ON OCTOBER 12, 1995 INCLUDED GLASS WINDOWS IN THE DOOR BEING USED. THE
TEST PRESSURES WERE +4B.4 PSF AND —54.7 PSF. BY COMPARISION, EIGHT (8) WINDOWS MAY BE
INSTALLED IN (1) ONE SECTON OF THE 18' X 7° AND 18' X 8° MODEL 600 AND S50 DOORS.

(2 PER SECTION ATTACHED WITH
@) 1/74° x 3/4° HEX HEAD UNIV. SCREWS
AT ALL CENTER STILES. ATTACHED WITH
) 1747 x 3/4° HEX HEAD UNIV, SCREW

AND (1) 5/16° x 1-3/4° LAG BOLT PER END STILE,

ROLLER HINGE ATTACHED

10) #8 X 3/4"

GLAZING OPTION CROSS SECTION

DearaFrame WINDOW FRAME
WTH UV PROTECTIO

CTioN PTIONAL Decra INSERTS
WITH UV PROTECTION

MIN, 3/32" THICK SSB GLASS

§~

AN HEAD SCREWS
AT EACH WINDOW FRAME

{(
)/

SECTION B-—B

OLDED INSIDE FRAME

T

oAt MAY 17 2001
L o
w_s_msm - Jax., Fl

UP TO 8’ TALL DOORS

SPLICE TRACKS AT THIS LOCATION

W/ (4) 1/4°-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/18° DIA. x 1-3/4"
LAG BOLTS

BUILDING PLANS EXAMIMNER

REVIEWED FOR
GODE COMFPLIANCE
KEEP THIS PLAN ON JOB

[nspeciiun vwpJax., L
fony ?.ER(
mﬁﬁ,_m.%ﬁmgm 20

AN T

II..
SECTION HEIGHT—— 0._||m_
STRUT SPACING =
s
(shics)
BB-100 BOTTOM E
BRAKET ATTACHED
W/ (2) 1/4" x 3/4
HEX HEAD SCREWS b
: AND (1) 5/18" x 1-3/4"
V HEX HEAD LAG BOLTS
c I
ﬂ\/nwﬁ. ALUN. EXTRUSION .~| Lm
W/ CONT. VINYL ASTRAGAL ——
SECTION_A—A Am__um VIEW) I
TRACK CONFIGURATION FOR 6'6°
JAMB BRACKET LOCATIONS
A B C D S
6'-6°| 4* l21-1/2"| 39° 57° 70°
7°-0°| 4* P1-1/2°} 42’ 63° 767
WOOD_JAMB ATTACHMENT TO STRUCTURE A R TV I e
RATED FOR 100 NPH FASTEST—MWILE BASIC WIND SPEEDS 8'—0°| 4° le1-1/2* 397 57° 88"

m 6" DIA,
{1) PER ROLLER

2" GALV. STEEL TRACK
TRACK THICKNESS .063"

TRACK MOUNTING DETAIL

2 X 6 SOUTHERN YELLOW PINE
(NO. 2 OR BETTER) #AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.

SPREPARATION OF WOOD JAMBS BY OTHERS

VERTIGAL JAMB ATTACHMENT TO #00D FRAME STRUCTURE
5/18° X 3° LAG SCREWS STARTING 6° FROM ENDS THEN 16° 0.C.

VERTICAL JAMB_ATTACHMENT TO_2.000 PSl CONCRETE
HILTI KWK BOLT 3/8° X 4" STARTING 8° FROM ENDS THEN 24° 0.C.

HILTE SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 8" FROM ENDS THEN 24° 0.C.
ITW/RAMSET RED HEAD 3/8° X 3° STARTING 6" FROM ENDS THEN 24" O.C.

VERTICAL JAHA_ATYACHMFNT JO G-99 BLGCK
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6" FROM ENDS THEN 16° O.C.

ITW/RANSET TAPCON 1/4° X 2-3/¢° STARTING 8” FROM ENDS, USE PAIRS OF
FASTENERS (3" APART) AT 18° 0.C

SPECIFICATIONS AND NOTES

1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
2. DOOR SECTIONS SHALL BE 25 GA. (.018") NIN, ROLL FORMED
LIGHT COMMERCIAL QUAUTY, G—40 GALVANIZATION.
3. DOORS UPTU 7'0° HIGH CONSIST OF
4. DOORS UPTQ 8'0° HIGH CONSIST OF
5. SUPPORTING STRUGTURAL. ELENENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
6. THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WTH THE PROCEDURE DESCRIBED IN ASTM E330-80, AND THE
SQUTHERN BUILDING CODE SECTION 1808 WIND LOAD DESIGN CRITERIA
THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED USING
THE FOLLOWING PARAMETERS:

4) SECTIONS AS SHOWN,
SECTIONS AS SHOWN,

| CESCOPTON (F FEVSINS

[ o | o

AEESLE

S9N GMSTY OEIK BLVD  VINSTIN-SALEN, RC 783

A BASIC WIND SPEED OF 100 MPH MODEL #600 STRATFORD
B. DOOR CAN BE INSTALLED WTH 5 FEET OF DOORS WOTH BERIT

INSIDE THE EDGE STRIP. MODEL N_wmo L =
C. 15' MEAN ROOF HEIGHT AT ANY SLOPE L WE 0/
D. USE FACTOR OF 1.0 B CEDE BY Py mmnnmSvS.T._
E EXPOSURE RATING OF C SCAE: BOY 10 SCAE SET 1\ O 1




PREMDOR (ENTERGY BRAND) DOUBLE DOOR

WITH SIDELITES IN WOOD FRAMES

WITH BUMPER THRESHOLD (INSWING)

1/2° HMINIHUM €HBLOHMENT
(l‘E) P[‘R HEAD L SIL (5) P[R JAHB
ALTERNATE: 2/16°
w/] 1/2° HINIMUH [MBCDH[NI

148 1/2°
MAX .
37 174 ra 37 174
MAX ] MAX __
g x 2 - H‘AX - —] |-—5° MAX - MAX
RS  | | o A e > wax— 7 s ae s oc
- oc. © nc 15* 0C_y_15° 0C_| | |!57 0C 4 35" 0C | 15" 0C. C.]
_k "'lsMA?(c""JSHAx - " MAX MAX MAX ”A),(,_] N HAX HAcx-w
i = 7 8 7716° ¢
¥ x 2° V.S, Of IST, HINGC
0 i o Jm\
2 18° OC
0. SeacinG Vi | / 3 s ,/
N BOTH SIDES -
NN AN N | I | O Z Y | NSRRI QT S || - S _ 1
43 11/16°
71 HA{ TTGUPQ %rr ULUDUCRK & i acm« m§mc JAHB A
e’ 18° 0O.C. : 22 X 64
.C. SPACING ag!l
o ’ q\ S 1/2° MAX DLO — 80 11716’
/ o | MAX
17 172° MAX / \(“\:vuscv peaDBOL ! //
oc. S;AC!NG 18° OC. ;gn%n:gg i‘é:“:nsmt
MODCL 820
be. SoACING %e- oc. eypest yooeser 4%
.~ I_ E;D:C“:‘&c LoCxksCTr _ _
” 6* Max ] ]
a2 bek ihn UL fs"f’%?’é‘ﬁ‘ln/ = - C—-
AUTCRNATC: 3/16° PFH TAPCONS T I 15° 0.C__|_ 15" OC. 15 0C__| 15" 0C_| | [.15° 0C_| 15" OC_| _15° 0C__| 15" 0.C._|
/1 1/2° MINIMUX CHBEDMENT a1 0T max T Max T MAx MAX MAX MAX MAX MAX
—— 4 MAX—| |-~ 37 MAX—| |=F - l=—ae MAX _
r—— . =~ =5 Max a
HAX - 1 T Hax
172° x 2° LONG STAPLES
SCE NOYE S
ATTACH ASTRAGAL THROW BOLT H8 x 1° LONG
STRIKE PLATE TQO THE HCADER "IN ALL REMAINING
AND THRCSHOLD WITH 10 x 1 3747 HOLES
“LATHEAD SCREWS
NOTES:
) WOOD BUCKS BY OTHERS. MUST BE ANCHORED HO x 1 374 LONG [\ ﬂ
RIJPEELY 0 TRANSFRER LOADS T0 ln}EE sr%ucmret. FLATHEAD SCREWS
) THE PRECEDING DRAWINGS ARE INJENDED 10 .
UALIFY THE FOLLOWING INSTALLATIONS, LH. INSVING RH. INSVING
. WO0OD FRAME CONSTRUCTION WHERE DOOR
YSTEM IS ANCHORED 70O A MINIMUM TWD BY w0OD
PLNING. ASTRAGAL
. MASONRY 0OR CONCRETE CONSTRUCTION WHERE
OOR SYSTEM IS ANCHORED TO A MINIMUM TwO BY APPROVED AS COMPLYING WITH THE
TRUCTURAL WwOOD BUCK. SOUTHF A BUILDING CODE
MASONRY OR CONCRETE CONSTRUCTION WHERE DESIGN_PRESSURE RATINGS DAE JUN Bﬁ 2001
OOR SYSTEM IS ANCHORED DIRECTLY TO CONCRETE WHERE VATER INFILTRATION] VHERE WATER INFILTRATION '
SEM3$UQJJ%ED\J{3L%KDR WITHOUT A NON-STRUCTURAL REQUIREMENT IS NEEDED x | REQUIRCMENT IS NOT NECDED
Positive  |NOT APPROVED x +95. f X
ALL ANCHORING SCREWS TO BE #10 WITH Neqotive |INOT APPROVE]D X -5555((]] [?SSF BUILDING CODE COMPLIANCE OFFICE
INIMUM | 1/2° EMBEDMENT INTO wWOOD SUBSTRATE e —

X 3/16° PFH TAPCONS WITH | 1/2° MINIMUM EMBEDMENT

{10 MASONRY.

UNIT MUST BE INSTALLED WITH ‘MIAMI-DADE COUNTY
PPROVED® SHUTTERS

THREE STAPLES PER SIDE JAMB INTO HEADER ON SIDELITES
vD DOOR, THREE STAPLES PER JAMB INTO THRESHOLD ON
DELITES AND DOOR.

ACCEPT VATER

INFILTRATION.

ACCEPTANCE NO, D 1-03/7. 23

X UNITS SHALL BE INSTALLED ONLY AT LOCATIONS PROTECTED BY A CANOPY OR
OVERHANG SUCH THAT THE ANGLE BETWEEN THE E€DGE DF CANOPY OR OVERHANG
T0 SILL IS LESS THAN 45 DEGREES. UNLESS UNIT IS INSTALLED IN
NON-HABITABLE AREAS WHERE THE UNIT AND THE AREA ARE DESIGNED TO

C | DADE COUNTY HODIFICATIONS f’ﬁn/uxw Jo
LATEX SEALANT TO BE APPLIED AT SIDE BY SIDE LIKITS: UNLCSS NOTED, FRAC 0C M 8 __ADDED PAGE S (DOOR OPTIONS) 10-1-98 | RS
\MBS AND SIDELITES. CXIRUSIONS: (RLCSS MOTED, 10, COML. LS. A_| ADD OTHER DOOR CONFIGURATIONS 1276797 | RS |
DOOR/SIDELITE HEADER, DOOR/SIDELITE JAMBS, AND SIDELITE BASE  |ENGINFFR: PR R i s b
J%rﬁ'%g% ?RE CDBTZEBRQNF[’JMBL%H) \JJ?{NED' WATER-BASED EPOXY RUST Ty SR L LULENTS.
HALL -PAIN H A -BA XY RU ,
MIBITIVE PRIMER PAINT wiTH A 0RY FiLu THicness o o8 1012w | PRCMOOR ENTRY SYSTEMS 31-1029-EM-1
[RAMES SHALL BE PRE-PAINTED WITH AN ACRYLIC LATEX WATER-BASED/ | ML LITCRH SHEET | OF 6
ATER-REDUCIBLE WHITE PRIMER VITH A DRY FILM THICKNESS OF 08 10 12 MIL. e -
: REVISION LCTTER C




INTERIOR

74”7 MAX -

37 /4°

33 304 =t Lo 3/4°

@) (6)

’r

1/74°
SHIM MAX

I

e e N\ D
) \\.\l 4 . . /A@ E
< f= D EXTERIR GLAZING DETAL

h SECTION A-A e

— 3
M Z m /\<\ % Z m OTHER CONF IGURATIONS

= 37 1/74°
MAX

- 11 174"
MAX

*/ /s o
GLAZING DETAIL

SHERWIN WILLIAMS 8504 @
EXTERIOR GRADE LATEX CAULK

EXTERIDOR

)

T 13 ....h
o, et ﬁ b, /I
. . EAS .y

INTERIDR \

/*l\\
\z/r

AN

SRR

1/2" -
GLASS BITE &9

1/8° TEMPERED GLASS

C | DADE COUNTY MODIFICATIONS e | JD

FBERDVED AG STNELYING WiTH THE B | ADDED PAGE S (DOOR OPTIONS) po-1-9e | RS
LIRS DLESS WOIED, TRAC. YNNG ADD SCREVS 10 LITE FRAMCS L

SOuty :.wdz 10 zmmaon (1128106 UL D 510 @, 10 A |ADD OTHR DOOR CONFIGURATIONS _fe-w-ar | %
BATE. FNGINFTR: i AT Wi | T
BY RN RS W 7-59-97] o TN
PRODUTT COMTACL DIVISICN PREMDUR ENTRY SYSTEMS 31-1029-EM-1
BULEING CCDZ COVPLANCE OFFICE | )0 EOTE SHEET 2 OF 6
roCEPTANCENG 6/~ 031423 :

Teviseaiie



MATERIALS LIST
ITEM NO. DESCRIPTION PART NUMBER COMMENTS
(D | wOOD HEAD JAMB EM-14 1 174* X 4 9/16° MIL. TO BE PINE OR EQUIVALENT
= - =
¢ BY wOOD BUCK @ | cOMPRESSION WEATHERSTRIP | £M-2S LOCKSCREEN BRAND [ DXSEAL 96S0%8BRONZE) ~ -
174" SHIM MAX @) | ALUMINUM ASTRAGAL EM-12 PREMDOR BRAND OR EQUIVALENT- 5/8° ALUMINUM ASTRAGAL
) _ @ | ALUMINUM-BUMPER THRESHOLD | EM-IS PREMDOR BRAND OR EQUIVALENT - 1 1/4° x 4 9/16"
3/4 | 1747 | © [ 10p cremneL EM-08 PREMDOR BRAND - | 11/16" - 20 GA STEEL
® | sTEEL SKIN 2 go. (017 404 -Q00) WA THEDES e TORRL ISt PR 1
I @ | pOLYURETHANE FOAM CORE BASF_FOAM - DENSITY 2.0 TD 25 lbs./ft’
, \\\\ \ A ® | BOTTOM CHANNEL EM-07 PREMDOR BRAND - 1 11/16° - 20 GA STEEL
i All@ ® | woob Lock BLOCK EM-09 4" X 9 1/2° MTL. TO BE PINE OR EQUIVALENT
] ¢ NN Y Q) | STRIKE STILE EM-06 PREMDOR BRAND - 1 11/16° - 20 GA STEEL
@ | HINGE STILE EM-05 PREMDOR BRAND - 1 11/16° - 20 GA STEEL
eee 0%, 0 e (® | LOCK PREP FILLER PLATE EM-10 PREMDOR BRAND - 050° THICK- MTL. TO BE POLYETHYLENE
@ et e et 0o ) | a'x4” HINGE EM-16 HAGER BRAND HINGE OR EQUIVALENT - 097 THICK (STEEL)
e @ | wOOD HINGE JAMB EM-13 1 174" X 4 9/16’ MIL. TO BE PINE OR EQUIVALENT
c %o 0, 0ot (9 | #10-24 x 1/2° FHMS. (4) SCREWS PER HINGE INTO DOOR
) LR ooo a oo.o 6 B10 X 2° FHWS. mhxmmwm,mmnqﬂmmﬂnmﬂh_mm JAMB INTO SIDELITE JAMB, 8° DOWN FROM 10P,
80 11/16 0yt oo oad (10) SCREVS THROUGH STRIKE JAMB INTO SIDELITE JAMB, 4° DOVN FROM TOP
o o . L% e MAX 8° 0.C. THEREAFTER
MA X 050 0% " o (6) SCREWS THROUGH EACH SIDELITE JAMB INTO SIDELITE, 4° DOVN FROM
HZH m Eﬂﬁ:w e 10P, MAX 15° OC. THEREAFTER
ot EXTERIOR I R . REFER T ELEVATION VIEW, FOR ¥ OF SCREVS USED AND LOCATIONS
79 2/16” (8 | #10 X 3/4° FHVS. (2) SCREVS PER HINGE INTO JAMB
MA X (9 |48 x 2" FHWS. (2) SCREWS AT EACH STRIKE PLATE
€0 | LOCKSET KWIKSET BRAND 200 LOCK OR HARLOC BRAND 100 LOCK
@) | #10 x 1 3/4° FHVS. (2) SCREWS PER HINGE INTO JAMB
€D | woOD SIDELITE JAMB EM-18 1 174 X 4 9/16° MTL. TO BE PINE OR EQUIVALENT
® 22* X 64° SINGLE PANEL GLASS £M-19 HWMWMWM%E mqrmﬂWWmmﬂ M%».w.«mtﬂGt«szm FRAME- DC-1643 - (DDL-2}
€9 | SIDELITE TRIM (wOOD) EM-20 S/16 x 1/2° MTL. T0 BE PINE OR EQUIVALENT
€ | wOOD CASING EM-21 |FOR “Sibe BV sibe dambs: A morLiousT Lo "o MOUDINGS UREA
| @ €® | wooD SIDELITE HEAD JAMB EM-22 1 1/4° X 4 9/16° MTL. T0 BE PINE OR EQUIVALENT
\ €) | wooD SIDELITE BASE EM-23 1 174 X 4 9/16° MTL. TO BE PINE OR EQUIVALENT
i FIN. FL : @® | POLYPROPYLENE LITE FRAME  [DC-1643, ODL-2] HP Polypropylene by ODL
= mw\P S € | #6 X | 172" PAN HEAD SCREWS 18 PER FRAME SORCY SPACING T BE 3" TN FROW CACH CORNCR AND NOT
= @) | SIDELITE STILES EM-25 15/16” X 1 11/16° MTL. 70 BE PINE OR EQUIVALENT
4 @ PIN NAIL 3/4° LONG NAIL, 4° IN FROM END, HAX 8" OC. THERAFTER, USED ON HULLIONS AND TRIM
A\ 4
DOwW SILICONE #3995
~—— 4 9/ 16" —— LINITS: UNLESS NOTED, FRAC. EC  © M6 B [DADE COUNTY MODIFICATIONS wiza | JD
EXTRUSIONS: UNLESS NDTED, STD. COML. TOL'S. A__WADDED PAGE 5 (DOOR OPTIONS) |i-1-98 | RS
. ENGINEER: LIR. REVISIONS DAL | BY
FPPROYCD AS COMPLYING WATH THE PART NAME: ENTERGY STEFL FOGE DODR ¢B-B)
m m m l_\ —H_ Z w B w mocqu.ar.,mq_..%:. QE R B RS. | AL 7-99-97 [ HAT'L: | SCALE:
CATE T
| mmm%@_m ENTRY SYSTEMS 31-1029-EM-1
PRGOULT CCHTAGL DIVISION It £ JTFERSON >
L 0105 Cone CompLamce oomee. | PLITSBURG, KS. 66762 A SHEET 3 0OF 6
ACLEriancen 0(7031¢ 23

|Revisi TR



¢ BY wOOD BUCK

1/4" SHIM MAX
\\
_,_M i _l 1 174"
3/ \\\\_\\\ \. ®
5, T ee. e /
o d X
@ ..m” “,. .numm @
— &
79 3/16"
INTERIUR MAX
80 11/16" 64" R EXTERIOR
MAX MAX DLO
PLEASE SEE
T DRAWING 431-
SHEET 2 OF 6
—1 1/4"

2 BY wOOD wcmxl\\\\\

A

st CTIUN C-0

—~— 4 9/16" —

/////,Dm< SILICONE

AFPROVED AS COMPLYING i TH THE

m.ﬂ.. _.._m_ H p%QE» m@.:r%iMWMDm

sy
FROOLYT CONTROL DIVISICH
FUILC:G COGE COLIPLIANCE OFFICE
ACCERFTANCENO O~ 03 Y. 23

"“GLAZING DETAIL”
1029-EM-1

W

#2995
D {DADE COUNTY MODIFICATIONS im0 | JD
LINITS: UNLCSS NOTCD, TRAC I % L HATERIAL WS POLYSTYRENE o2 1
: FRAC. L @ AN B [ADDFD PAGE S (DONR OPTIONS)  |io-1-98
quma_Dzm Cz_rﬁmw zm.—MG. M:u ﬁD.:..—. ,—Dﬁ.w D ADD SCREVS T0 LITE FRAME L MATERIAL LIST wmu_mlcu —NM.
NGINEER: LR, REVISIONS ATE | BV
PART NAHE: NTERGY METAL £DGE SIDELITE (C-C)
_m BY RS, 1 DAIE 7-p9-¢ _ FAT'L: TSCALE:
911 €. JCFFERSON 31-1029-EM-1
PITTSBURG, KS. 66762 SHEET 4 0OF 6
|Revision LR g




JIHER DUUR COUNFIGURATIONS & -

0y e 1l 1ses

-w e RAT MAX
7 1740 u~ e 37 e e . 37 178 Jar
nAX a hax 4 | e 4 nAx 4 A a1 mAK 4
. Az ] 3 max [ *” 4 naz | 3° max nAX max | 3° mAx = I max s nax 3° maAx = [ nax
o - max T nax nax naz ] 4 Ay 3 max 3° max 4% Mx ™ nax 3 max
13° 0L 18° QC 13° 0C. 15° 0OC 13° QC, -u oc, _ -u ocC, 13° aC_ 13" oC, _u Dﬂ _u _u ac_ )3 oc 13° 0L_ 5" QC 19° 0L 13 0C 13° L 1s* 0L _u nwn u Pn.l 13° oC 3 gc.

o ax max T max max lﬁl nax nax Al 4w x T lml nAX [ T wax T wax Az MAX a* nax nAY Aax a max
r [ V i 1 1 _ ] 0 V _ 1 1 1 _ .._ _l_ 0 ; 0 i [ i _ T ___ _

17 W2° maz . 17 /2" »ax 17 172 max 17 172° max
0C SPACDG \\ _ \ 0C SPACING \ / 0L SPACING 0C SPACING
| - I _ ! _ - _ _ ! _ - |
_ _ _ _ |

. \ 17 1/2° max
17 W max 17 172° max 12 172° max
0C. 3PaCG ° ' e sPacinG ° ° 0C SPACING o OC. PACING
- \ «f B0 N/186° |~ 80 W6 B 1s18” - L B8O 11718° o
\ o RAZ \ o] RAZ nax ] / | nax [e]
17 172" max \\ 17 1/2° max 17 172 max 17 vz wax
0C IPACING i 0L 3PACING ac u‘_.ﬁ_.a 0C. SPACING
V7 12" wax \ 17 172 max \ / V7 12 max 17 12 wax
OC SPACING \ 0L 3PACING / 0L SPACING OC SPACING
| | _l|| - " .4 wl e ~ |_. T
] 1 _ [} [} t Hyl) e ] i I ' _ _
- » . m— = o - - 4
_u nn _v oc 13 ﬂn _ _u oc 13 Dh _ _u oc l_ 1M ﬂn _u ac _u Dﬂ|—l—u nh. 13 Dﬂ|_|—.u Dn - 13 Dh'—lhu Bh, 13 inru. ac 13 Pﬂl—L.u. oc 13 D.nl.—|_.u. ac _ e 13 DbI_Lu. oc 13 un _ _u an.
nax RmAZX Max nay (3 nAX RAX mAx nax
—|. RAX F a a xbu ¥ —l.. nAT 3° max
ot 4 a 3° RAX b— a 4 3° max r o
T max max T - —

|
7

mxxm Dxx XX XX

ne .
74 e 74 J74° AT uu))_nw .
nax max . T [T nax
. . 37 1ee EA ,e° .
37 1se 2 e ” e e ~az : Loe - ac. 3 o
" e s J TE naz - MaX E a° max
- LAz i . L e — 4 max |_ s |
~ax e .G..M.n e e vl e mx ﬁu ac__1»- prl_.l_ ﬁu ac s ﬁu.pn 13 ac, !
. - 13 ¢ . mAx nAX mazx .‘u nax ] — -4
o max mAx JI ax max T max Az Jl mAX mAX lﬁl Mz 4 mAX _ _ lﬁl RAX b et omx
! ! ; T —s Bl V ) 17 1720
_ 0 1 T 1 I [ i | 4_ _ - | _ 0T SPachG
i _ 7] _ I ! |
. 7 172° max — '
17 172° maz | N 17 172 max / !
oc PG \\ i i //// o St / A i / or a._.A_.A
! - - - | u ] -1l - T 17 172° maz
= m i : i _ ° 0C SPaCinG
: _ ' ! vr e wax 89 11/16° 3 A Iln*
17 W/2* max 3 17 2z max f mAX
LTINS | o \ 0c SPACHG . ° 0L sfacha 17 12 war
. ° ! : 8 1118 = = 0L SPACING
Tnl - \ i | R AT 80 11/16° n : / - naz / o /// I
\ [+] max max [=] . _ “ 17 12 max B _
17 /2" max | V1T max f 0L $PacING
OC 3PACIG i s34 aﬂ.ﬁ_.a “ I _ ’ e
- il - = - - [~ I = - 0L $PACIG
| | — _ _ 1
\ 17 172" max -
112 wax | / 17 1z maz : | // LY Fenr)
0C 3PACIMG \ I 0C SPACING s !
_ _ L f _ $
- il -y = - *
1 ) .

)
| _v _ _ 13- 8¢ ] 13 oc
X
o 4l og tisae 1 0 s oc )| weog favoe Lm0 lysog || o _u..tmnl_l—u...»mh 13 nhLL.u ac _ I owf_L.u I_I....... Dlan -
Az mAX "AR A MAX mAT nAL nax RAX .z _| M= ax
a* .‘-In_ 4" mag 4% mAx e ° maz ... mAx e max

nax
.
nAx mAT
nax max

LUX X[ LIXL] X

LIKITS: UNLESS NOTED, FRAC @ L+ MG

EXTRUSIONS: UNLESS NOTED, STD. CONL. TOL'S.

APPROVED AS COMFLYINGWITHTHE  [ENGINFFR: LIR. REVISIONS DAIE [ BY

€OUTH FLOR:DA BUILDING CODE PART NAML:

oz JUN 0§ iliy REB J0__ DAL 1-1i-01 RAT'L [SCALE

e

S

FRODULZT CONTROL DIVISION
EUILDING CCoE COMPLIANCE OFFICE

PREMDOR ENTRY ﬁw:zm 31-1029-EM-1

911 . XFFCRSDY
PITISTRG, XS 64762 SHEET S 0OF 6

CCEFTANCERD O1-06314.23

| RevisinN LCTIER




. o Hw mu " ) o
MAX
oo 808 oag oon 00 808
79 %:Q il N1 :: jof  |oo ao8 ifE ioa EE E_ % ==
MAX I oo e 00| | e = = |2t
é ili 0o |00 oo e oo |X o0 (oo oo |oo| (oo
BLANK T0OP 6-PANEL 4-PANFL 9-PANEL 10-PANEL 18-PANEL FLUSH 8-PANEL CROSSBUCK 12-PANEL 4-PANEL S5-PANEL 5-PANEL S-PANEL S-PANEL
4-PANEL EYEBROW W/SCROLL  EYEBROW EYEBROW
W/SCROLL
i o w mv n"
7 ﬁ sz
79 3.1 Q m i m @ m
MaX 0 I ¥ -
SL-10 SL-20  SL-30 SL-60 SL-5S0 SL-S0 SL-65A SL-69B SL-69C SL-25 SL-55 SL-30D  SL-40 SL-90A SL-908B SL-90C SL-30B SL-30C  St-70 SL-80
oo "R Py T @
o0 oo o] B8 @R A0 BE R 00 @ B B B i 00 0
G0) \00) ooy |oop  |@0j |00; 0| 0Oy |ooy |00 ool (ool (oo 00 |oo i
PD-1 PD-2 PD-3 PD-4 PD-S PD-6 PD-7 PD-8 PD-9 PD-10 PD-11 PD-12 PD-13 PD-14 PD-15 PD-i6 PO-17 | w
S (QEY
H mMN AT] ™ M M:UJ 3 M m%
PD-18 PD-19 PD-20 PD-21 PD-22 PD-23 PD-24 PD-25 PD-26 PD-27 PD-28 PD-29 PD-30 PD-31 PD-32 PD-33 g5y 23 2
LIMITS: UNLESS NOTED, FRAC. © [CC A
EXTRUSINS: UNLESS ADIED, SID. CO¥L. T0LS.
p 808 FNGINFFR: LR REVISIONS DATE | BY
gm@ =m= =m= :m: —@ Dm PART NANC: PREMDOR DOOR OPTIONS
.. nul ugu usl .WH d b R B J.D. | BATE 1715701 HAT'L: [ SCALE:
oo] (oo I jm |m [ % |m PREHIIR ENTRY STSTERS 3-1095-EW-1
PD-35 PD-36 PD-37 PD-38 PD-39 PD-40 PD-41 PD-42 PD-43 PD-43a PD-438 PITISORG, KS. 6762 SHEET 6 OF 6
[ eevision Leiee




